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These comments reflect changes to 6.10.5.2, IECASi calculation change from <100 to <200, 6.10.5.3, addition of a sentence, and the reinstatement of the old 6.10.5.3 moved to 6.10.5.6.

These changes incorporate comments made by ERCOT Operations and MOD last year.

	Proposed Protocol Language Revision


6.10.5
QSE Real Power Performance Criteria

6.10.5.1
Ancillary Service Demand Factor  

For each Settlement Interval ERCOT shall calculate an Ancillary Service Demand Factor for each QSE in accordance with the following:

ASDFqi = (ABSCEqi / ABSCEti )

Where:
  ABSCEqi = the 15 minute integration of the absolute value of the SCE of the QSE    during that interval, multiplied by ( 1 – ( 0.5 * ( UNCRESqi / TOTRESqi ) ) )


  ABSCEti = Sum of ABSCEqi for all QSEs during the interval

  UNCRESqi = Net capability of online generation of the QSE in that interval that is deemed by ERCOT to be uncontrollable


  TOTRESqi = Net Capability of all online generation of the QSE in that interval.

6.10.5.2
Ancillary Service Cost Reallocation  

For each Settlement Interval ERCOT shall calculate an Ancillary Service Cost Reallocation for each QSE in accordance with the following:

ASCRqi = ( 1 – (ELFPFi / ( ELFPFi + ABSCEti ) ) ) * IECASi * ( ASDFqi – LRSqi )

Where:
  LRSqi = Load Ratio Share for Ancillary Service allocation for the QSE, adjusted for bilateral transactions and bid awards, as used to deploy Ancillary Services

ELFPFi = the absolute value of the difference between i) ERCOT’s Load forecast made to determine Balancing Energy deployments for the interval, and ii) ERCOT integrated actual Load for the interval.
IECASi = The Interval Equivalent Cost of Ancillary Services, determined by ERCOT to be 25% of the cost of Regulation Service plus Non-Spin Reserve Service plus Responsive Reserve Service for the hour containing the interval, based on the capacity clearing prices for each Service for the hour, and based on the total amount of these Services allocated to all QSEs: provided; that if ABSCEti < -200 MW in any interval, then IECASi is set to zero for that interval.
In the event ASCRqi for any QSE for any Settlement Interval is positive, the QSE will be charged that amount.  In the eventASCRqi for any QSE for any Settlement Interval is negative, the QSE will be paid that amount.

[PIP112, PRR311, and PRR419: Add the following two paragraphs when BUL is implemented:]

On deployment of BULs, the QSE shall control its Loads to the difference between its Scheduled power and the BUL instructed amount.  ERCOT, at a time established at its discretion, shall determine the Base Load of the sum of all Loads qualified by the QSE as BUL Resources by obtaining actual meter data from IDR meters or directly from the TDSP who has agreed to supply the data.  While IDRs must normally be present on all Loads providing BUL Resources, IDRs may be installed and read on a sample of the Loads qualified by a QSE as a BUL Resource, provided the Loads are sampled in accordance with Section 18.7.2, Load Profiling of ESI IDs Under Direct Load Control.  The Base Load is determined by finding the average actual metered energy during the same interval as the instruction to deploy BUL from the previous 10 days (in the case of weekday deployment) or six days (in the case of weekend or holiday deployment).  Days in which BUL instructions occurred during the same interval are ignored.  If the instruction to deploy occurs on a weekday, only weekdays are included in the average.  If the instruction to deploy occurs on a weekend, only weekend days and ERCOT-defined holidays are included in the average.  For small customer load management programs, Base Load for each interval is determined from the aggregated appropriate baseline load profile for participating customers assuming the load management program is not in operation.

ERCOT shall also integrate for each Settlement Interval the signal provided by the QSE representing the amount of BUL power deployed.  The expected total reduction of Load shall be determined by subtracting the integrated signal for each interval from the Base Load as determined above.  For small customer load management programs during each interval, the expected total reduction of Load shall be determined by subtracting the aggregated participating customer load during operation of the load management program, which is calculated from the appropriate load profile, from the Base Load for these customers as calculated above.  Control performance of the QSE providing BUL shall be deemed satisfactory when during the first hour in which BUL is deployed in an Operating Day, the actual metered Load for any Settlement Interval during the hour is equal to or less than the amount of energy expected.  Failure of the QSE to provide satisfactory control performance during the first hour in which BUL is deployed in an Operating Day will cause ERCOT to withhold payments for any capacity provided as BUL for the Operating Day.  Failure of a BUL to provide at least 90% of the expected total Load during the first hour of deployment for three Operating Days in a year will disqualify a BUL.  The QSE will have to requalify the specific BUL; however, there will be a 90 day waiting period before the BUL can be requalified.  To be requalified, the BUL will have to successfully reduce load during the following BUL requalification test. The QSE shall nominate to ERCOT the BUL which it wishes to requalify.  During a period of time mutually agreed to by the QSE and ERCOT, at a specific time selected by ERCOT, the ERCOT operator will notify the QSE that it wants to reverify the BUL’s ability to provide ERCOT with the appropriate load reduction.  Upon receipt of the ERCOT notification, the QSE Operator will immediately initiate the BUL reduction and provide ERCOT with the appropriate signal representing the amount of Load be reduced.  Upon completion of the deployment interval, the ERCOT Testing Operator shall call the QSE and notify them that the test is complete.  At this time the deployed Resources may be restored to their normal state.  Load used to provide BUL Resources shall be requalified for correct operation by comparing the average energy in a Settlement Interval as recorded on IDR meters to the expected reduction in total Load indicated by the QSEs signal to ERCOT.  Once ERCOT has verified that it actually received the committed load reduction from the BUL, the QSE will be notified when the BUL can resume providing Balancing Up Energy Service.  If the BUL fails the requalification test then the QSE may request an additional requalification test for that BUL, but the BUL shall not be allowed to have more than three requalification tests in a year.
6.10.5.3
Effect on SCE of ERCOT Instructions  

Operational instructions by ERCOT should be included in SCE to the greatest extent possible.  In the event of operational instructions by ERCOT that directly cause any QSE to increase or decrease its SCE, appropriate adjustments to ABSCEqi shall be made in settlement when performing the calculations in 6.10.5.1. In the event appropriate adjustments can not be performed, ASCRqi shall be set equal to 0 for that QSE for all intervals in which the adjustment can not be made. The extent of the need to make such adjustments shall be reported periodically to the appropriate subcommittee.



(1) 
(2) 









6.10.5.4
ERCOT Load Forecast Error  

ERCOT shall post on its website the interval values of ELFPFi.  ERCOT shall make periodic reports to the appropriate subcommittee showing the trend of ELFPFi and its impact on the amount of Ancillary Services that ERCOT determines is necessary


(1) 
(2) 


6.10.5.5
SCE Obligation 
Ancillary Service Cost Reallocation under 6.10.5.2 is not intended to substitute for a requirement that all QSEs make a continuous good faith effort to operate at or near a zero SCE.  ERCOT shall post on its website daily averages of the absolute value of every QSE SCE as a percentage of the daily average respective QSE load.  When such data shows average absolute SCE to be more than five percent of average load for any QSE on any day, ERCOT will report that QSE to the appropriate regulatory authority.

(1) 
(2) 





6.10.5.6    Regulation Services Monitoring Criteria 

Regulation Services Monitoring Criteria will be reviewed by the appropriate ERCOT TAC subcommittee and submitted into these Protocols upon approval. 
QSEs providing Regulation Services shall declare this intent to ERCOT in the Scheduling Process. On deployment of any RGS service, the QSE shall control its Resources to operate to the final Resource bilateral schedules as converted to a base power function plus the equivalent power requirement of the Balancing Energy Dispatch Instruction plus any instructed RGS Service power requirement. ERCOT shall calculate 1-minute and 10-minute averages of each QSE’s SCE. ERCOT shall also calculate each QSE’s participation factor as the ratio of the QSE’s awarded RGS Service to the total amount of RGS Service in ERCOT.  For performance monitoring purposes, ERCOT shall limit the deployment of RGS Service to QSEs for each control cycle equal to 125% of the total amount of RGS Service in ERCOT divided by the number of control cycles in ten minutes.  RGS Service performance should be calculated only for the intervals for which the QSE is awarded or accepts transfer of responsibility for RGS Service.  Satisfactory control performance of the QSE providing only RGS Service shall be deemed acceptable when:

(3)  The one (1) minute averages of the QSE’s SCE meet the following criteria over the calendar month, and:
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The ten (10) minute averages of the QSE’s SCE meet the following criteria for 90% of the ten (10) minute periods over the calendar month:
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Where: 

SCE1 is the one minute average of SCE.

SCE10 is the ten minute average of SCE.

Bias1 is the one minute average of the ERCOT total bias used in the ACE calculation.

(F1 is the one minute average of frequency deviation from schedule.

Participation Factor is determined by the ratio of the QSE’s hourly-awarded RGS Service (or as modified by transferred responsibility) to the total ERCOT RGS Service awarded.  

( is a constant derived from the targeted frequency bound. It is the targeted RMS of one (1) minute average frequency error from a schedule based on frequency performance over a given year as established according to NERC Performance Requirements by ERCOT and the appropriate ERCOT Subcommittee as assigned by TAC.

L10 is a limit to recognize the desired performance of frequency for ERCOT as established according to NERC Performance Requirements by the appropriate ERCOT Subcommittee assigned by TAC.  As of September 2000, L10 is defined as (1.65 * E10 * Bias10) where E10 is 0.0073 Hz and Bias10 is the ten-minute average of the ERCOT total bias used in the ACE calculation.

K is a constant established by the appropriate ERCOT Subcommittee as assigned by TAC. K should initially be set to .81 to provide an ERCOT wide L10 equivalent to the ERCOT wide L10 currently used by Control Areas in ERCOT. This constant can be adjusted to ensure correlation between passing the NERC CPS2 criteria and passing the SCE ten-minute control limit.

� EMBED Equation.3  ���





� EMBED Equation.3  ���
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